BT E A OB =B EFi H o tha R HCRE st R

hERRIBERAE Hir: A%
ANO B3z =8Bl B o thay R EBELE
== L|AOH FiE BHorEE% PREEER %
0Z145% 15%645% 655 E 0Z145% 15%645% 6552 |E

o3 3,352 115 2,093 1,144 3.43 62.44 34.13 60
i TR E 964 37 618 309 3.84 64.11 32.05 56
i E 581 24 373 184 4.13 64.20 31.67 56
FHE 136 79 57 0.00 58.09 4191 72
HayiE 385 23 242 120 597 62.86 31.17 59
FHE 249 2 157 90 0.80 63.05 36.14 59
AIRE 254 10 146 98 3.94 57.48 38.58 74
FEMLE 380 7 220 153 1.84 57.89 40.26 73
pat L} 403 12 258 133 2.98 64.02 33,00 56

SR © LA %— (1496 R LE 2096 FiB R =65 LA BB AR 00 - BRTRCP RSB GNAL S
2HRREE=(OZ 145 A OB+ 6557 BA_E AR+ 152 6458 A 18)*100 -
3ERALBEE=(LFAREAOR+AEREADE)2 -



BT E A OB =B EFi H o tha R HCRE st R

hERRIRERAE Hir: A%
ANO B3z =8Bl B o thay R EBELE
== L|AOH FiE BHorEE% PREEER %
0Z145% 15%645% 655 E 0Z145% 15%645% 6552 |E

& 3t 3,476 128 2,206 1,142 3.68 63.46 32.85 58
TR 1,004 44 654 306 438 65.14 30.48 54
i E 600 24 384 192 4.00 64.00 32.00 56
FHE 133 78 55 0.00 58.65 41.35 71
HayiE 394 21 257 116 533 65.23 29.44 53
FHE 269 5 171 93 1.86 63.57 34,57 57
AIRE 261 7 158 96 2.68 60.54 36.78 65
FEMLE 399 10 238 151 2.51 59.65 37.84 68
pat L} 416 17 266 133 4.09 63.94 31.97 56

SR © LA %— (1496 R LE 2096 FiB R =65 LA BB AR 00 - BRTRCP RSB GNAL S
2HRREE=(OZ 145 A OB+ 6557 BA_E AR+ 152 6458 A 18)*100 -
3ERALBEE=(LFAREAOR+AEREADE)2 -



BT E A OB =B EFi H o tha R HCRE st R

hERRIIIERAE Hir: A%
ANO B3z =8Bl B o thay R EBELE
== L|AOH FiE BHorEE% PREEER %
0Z145% 15%645% 655 E 0Z145% 15%645% 6552 |E

o3 3,601 152 2,325 1,124 422 64.57 31.21 55
TR 1,055 57 688 310 5.40 65.21 29.38 53
i E 608 28 402 178 461 66.12 29.28 51
FHE 138 84 54 0.00 60.87 39.13 64
HayiE 398 25 258 115 6.28 64.82 28.89 54
FHE 288 8 186 94 278 64.58 32.64 55
AIRE 277 7 179 91 2.53 64.62 32.85 55
FEMLE 407 10 246 151 2.46 60.44 37.10 65
pat L} 430 17 282 131 3.95 65.58 30.47 52

SR © LA %— (1496 R LE 2096 FiB R =65 LA BB AR 00 - BRTRCP RSB GNAL S
2HRREE=(OZ 145 A OB+ 6557 BA_E AR+ 152 6458 A 18)*100 -
3ERALBEE=(LFAREAOR+AEREADE)2 -



BT E A OB =B EFi H o tha R HCRE st R

hERRIIERAE Hir: A%
ANO B3z =8Bl B o thay R EBELE
== L|AOH FiE BHorEE% PREEER %
0Z 1475 15%645% 6552 | 0Z 145 15%645% 6552 |E

& 3t 3,668 154 2,413 1,101 420 65.79 30.02 52
TR 1,064 51 713 300 479 67.01 28.20 49
i E 638 34 427 177 533 66.93 21.74 49
FHE 140 87 53 0.00 62.14 37.86 61
TSR 400 28 260 112 7.00 65.00 28.00 54
FHE 297 9 193 95 3.03 64.98 31.99 54
AIRE 279 7 184 88 2.51 65.95 31.54 52
FEMLE 416 11 256 149 2.64 61.54 35.82 63
pat L} 434 14 293 127 3.3 67.51 29.26 48

SR © LA %— (1496 R LE 2096 FiB R =65 LA BB AR 00 - BRTRCP RSB GNAL S
2HRREE=(OZ 145 A OB+ 6557 BA_E AR+ 152 6458 A 18)*100 -
3ERALBEE=(LFAREAOR+AEREADE)2 -



BT E A OB =B EFi H o tha R HCRE st R

hEREI09FELRHAE Hir: A%
ANO B3z =8Bl B o thay R EBELE
== L|AOH FiE BHorEE% PREEER %
0Z 1475 15 645% 6552 | 0Z 145 15%6455% 655 1

& s 3,768 171 2,513 1,084 4.54 66.69 28.77 50
TR 1,090 62 737 291 5.69 67.61 26.70 48
TR E 642 33 43) 177 5.14 67.29 21.57 49
i E 148 ) 56 0.00 62.16 37.84 61
R E 400 26 268 106 6.50 67.00 26.50 49
FHE 315 12 208 95 3.81 66.03 30.16 51
AEE 291 8 194 89 2.75 66.67 30.58 50
FEALE 436 14 275 147 321 63.07 33.72 59
pat L} 446 16 307 123 3.59 68.83 27.58 45

SR © LA %— (1496 R LE 2096 FiB R =65 LA BB AR 00 - BRTRCP RSB GNAL S
2HRREE=(OZ 145 A OB+ 6557 BA_E AR+ 152 6458 A 18)*100 -
3ERALBEE=(LFAREAOR+AEREADE)2 -



BT E A OB =B EFi H o tha R HCRE st R

hEREI0EIRAE BEAr: A%
ANO B3z =8Bl B o thay R EBELE
== L|AOH FiE BHorEE% PREEER %
0Z 1475 15%645% 6552 | 0Z 145 15%645% 6552 |E

& 3t 3,900 199 2,646 1,055 5.10 67.85 27.05 47
TR 1,136 73 780 283 6.43 68.66 24.91 46
TR E 666 33 460 173 4.95 69.07 25.98 45
i E 148 1 95 52 0.68 64.19 35.14 56
HayiE 401 26 277 98 6.48 69.08 24.44 45
FHE 341 17 230 94 4.9 67.45 21.57 48
AIRE 307 7 207 93 2.28 67.43 30.29 48
FEALE 444 21 285 138 473 64.19 31.08 56
e 457 21 312 124 4.60 68.27 27.13 46

SR © LA %— (1496 R LE 2096 FiB R =65 LA BB AR 00 - BRTRCP RSB GNAL S
2HRREE=(OZ 145 A OB+ 6557 BA_E AR+ 152 6458 A 18)*100 -
3ERALBEE=(LFAREAOR+AEREADE)2 -



BT E A OB =B EFi H o tha R HCRE st R

hERBITERAE Hir: A%
ANO B3z =8Bl B o thay R EBELE
== L|AOH FiE BHorEE% PREEER %
0Z145% 15%645% 655 E 0Z145% 15%645% 6552 |E

& 3t 3,995 211 2,746 1,038 528 68.74 25.98 45
TR 1,158 80 797 281 6.91 68.83 24.27 45
i E 678 34 474 170 5.01 69.91 25.07 43
FHE 148 3 95 50 2.03 64.19 33.78 56
HayiE 404 26 282 96 6.44 69.80 23.76 43
FHE 358 18 244 96 5.03 68.16 26.82 47
AIRE 325 8 227 90 2.46 69.85 27.69 43
FEMLE 451 19 297 135 421 65.85 29.93 52
pat L} 473 23 330 120 4.86 69.77 25.37 43

SR © LA %— (1496 R LE 2096 FiB R =65 LA BB AR 00 - BRTRCP RSB GNAL S
2HRREE=(OZ 145 A OB+ 6557 BA_E AR+ 152 6458 A 18)*100 -
3ERALBEE=(LFAREAOR+AEREADE)2 -



BT E A OB =B EFi H o tha R HCRE st R

hERRI106FE12HE Hir: A%
ANO B3z =8Bl B o thay R EBELE
== L|AOH FiE BHorEE% PREEER %
0Z145% 15%645% 655 E 0Z145% 15%645% 6552 |E

& 3t 4,038 222 2,776 1,040 5.50 68.75 25.76 45
TR 1,176 87 801 288 7.40 68.11 24.49 47
i E 691 34 485 172 492 70.19 24.89 42
FHE 149 4 100 45 2.68 67.11 30.20 49
HayiE 403 29 283 91 7.20 70.22 22.58 42
FHE 367 17 254 96 4.63 69.21 26.16 44
AIRE 329 7 231 91 2.13 70.21 27.66 42
FEMLE 455 20 299 136 4.40 65.71 29.89 52
pat L} 468 24 323 121 5.13 69.02 25.85 45

SR © LA %— (1496 R LE 2096 FiB R =65 LA BB AR 00 - BRTRCP RSB GNAL S
2HRREE=(OZ 145 A OB+ 6557 BA_E AR+ 152 6458 A 18)*100 -
3ERALBEE=(LFAREAOR+AEREADE)2 -



EETRERE A OBIZ =BEFER T otbo RHCREETR

hERRI0SFERAE B A%
AN OBz =g FleE o thy REBRLE
2 BAOE FHRE Bortb% HREIEXRY%
0Z 145% 152 647% 655 LA 02 145% 152645% 655 A E
;o3 4,107 254 2,818 1,035 6.18 68.61 25.20 46
IEFTHE 1,206 93 822 291 7.71 68.16 24.13 47
TR E 708 40 492 176 5.65 69.49 24.86 44
e 158 8 106 44 5.06 67.09 27.85 49
FEbLE 407 32 285 90 7.86 70.02 22.11 43
4IHE 362 17 255 90 4.70 70.44 24.86 42
AIEE 330 5 230 95 1.52 69.70 28.79 43
FEAE 474 27 314 133 5.70 66.24 28.06 51
yat 1=:\ 462 32 314 116 6.93 67.97 25.11 47
R LAOEERD=(14% RE#1tE > 20% RBEE)=(655% A L AOB-ZEE P AOEB)*100 - BERTEBEBEERR SR

2RBEE=((0Z 1458 A\ 8 6558 EA_E A8+ 1526458 A 18)*100 -
3EPAOGE=(EFARAOB+AEAEACE)2 -



EETRERE A OBIZ =BEFER T otbo RHCREETR

hERRIVERAE B A%
AN O 8z =FEE i B o thay R EFEE
2 BAOE FHRE Bortb% HREIEXRY%
0Z 145% 152 647% 655 LA 02 145% 152645% 655 A E

®E 4,196 292 2,387 1,017 6.96 68.80 24.24 45
IEFTHE 1,258 120 844 294 9.54 67.09 23.37 49
TR E 714 44 501 169 6.16 70.17 23.67 43
e 173 9 120 44 5.20 69.36 25.43 44
FEbLE 406 31 293 82 7.64 72.17 20.20 39
4 E 370 20 262 88 541 70.81 23.78 41
AIEE 333 4 231 98 1.20 69.37 29.43 44
FEAE 479 30 320 129 6.26 66.81 26.93 50
pat. 1| 463 34 316 113 7.34 68.25 24.41 47

¢ LAOELR%= (1496 Kk tt e - 2096 BB ilk)=(655 A L A DB 248 ADI4EE0)*100 -

2RBEE=((0Z 1458 A\ 8 6558 EA_E A8+ 1526458 A 18)*100 -
3EPAOGE=(EFARAOB+AEAEACE)2 -

ERTRERPBEER &R



EETRERE A OBIZ =BEFER T otbo RHCREETR

hERRIGENRAE Bir: A%
AN OBz =g FleE o thy REBRLE
2 BAOE FHRE Bortb% HREIEXRY%
0Z 145% 152 647% 655 LA 02 145% 152645% 655 A E
®E 4,292 327 2,967 998 7.62 69.13 23.25 45
I THE 1,297 133 869 295 10.25 67 22.74 49
TiEE 731 52 508 171 7.11 69.49 23.39 44
T E 177 8 126 43 4.52 71.19 24.29 40
hEHiE 409 33 300 76 8.07 73.35 18.58 36
4HEE 373 22 268 83 5.90 71.85 22.25 39
RIPE 346 9 245 92 2.60 70.81 26.59 41
FEALE 493 32 334 127 6.49 67.75 25.76 48
ArEE 466 38 317 111 8.15 68.03 23.82 47
R LAOEERD=(14% RE#1tE > 20% RBEE)=(655% A L AOB-ZEE P AOEB)*100 - BERTEBEBEERR SR

2RBEE=((0Z 1458 A\ 8 6558 EA_E A8+ 1526458 A 18)*100 -
3EPAOGE=(EFARAOB+AEAEACE)2 -



EETRERE A OBIZ =BEFER T otbo RHCREETR

HERBI02F12HE Bfr: A%
ADBd% =Pl E o th oy R EARREE
2 5l OB FiRiE Hortb% BmEER%
0Z 145% 15Z645% 655 2AE 0Z 145% 15Z645% 655k A |
& = 4,310 331 2,985 994 7.68 69.26 23.06 44
2 746 58 521 167 777 69.84 22.39 43
RPLE 349 12 241 96 3.44 69.05 27.51 45
TiE 181 6 131 44 331 72.38 2431 38
FHE 358 20 253 85 5.59 70.67 23.74 42
AEE 466 35 323 108 751 69.31 23.18 44
i TH B2 1,318 131 888 299 9.94 67.37 22.69 48
fsTE 407 35 300 72 8.60 73.71 17.69 36
FEREE 485 34 328 123 7.01 67.63 25.36 48
0 LAOE(ERD =(14% RIS - 20% RERER)=(65 U EADB-ZFEE T ACEE)*100 - ERHRBFBEEBHR &3

2RBEE=((0Z 1458 A\ 8 6558 EA_E A8+ 1526458 A 18)*100 -
3EPAOGE=(EFARAOB+AEAEACE)2 -



EETRERE A OBIZ =BEFER T otbo RHCREETR

HERERI0IFIRATE Bir: A%
AN OBz =g FleE o thy REBRLE
2 BAOE FHRE Bortb% HREIEXRY%
0Z 145% 152 647% 655 LA 02 145% 152645% 655 A E
®E 4,325 335 2,990 1,000 7.75 69.13 23.12 45
iRE 764 58 538 168 7.59 70.42 21.99 42
AIPE 334 11 226 97 3.29 67.66 29.04 48
i E 189 8 137 44 423 72.49 23.28 38
4 372 27 255 90 7.26 68.55 24.19 46
agE 449 24 315 110 535 70.16 24.50 43
i TE B 1,337 133 906 298 9.95 67.76 22.29 48
e 411 38 301 72 9.25 73.24 17.52 37
FEREE 469 36 312 121 7.68 66.52 25.80 50
R LAOEERD=(14% RE#1tE > 20% RBEE)=(655% A L AOB-ZEE P AOEB)*100 - BERTEBEBEERR SR

2RBEE=((0Z 1458 A\ 8 6558 EA_E A8+ 1526458 A 18)*100 -
3EPAOGE=(EFARAOB+AEAEACE)2 -



EETRERE A OBIZ =BEFER T otbo RHCREETR

hEERBRI0ENRAE B A%
AN Sz =FE AR E 2 th oy R EBRE
== || HFAOR FRE BHortb% HREEERY
0Z 145% 152 645% 65 A 0Z145% 152 645% 655 |
g 4,311 333 2,969 1,009 1.72 63.87 23.41 45
TR E 764 56 537 171 7.33 70.29 22.38 42
RIPE 339 15 224 100 4.42 66.08 29.50 51
HLE 188 10 134 44 5.32 71.28 23.40 40
e 338 21 229 88 6.21 67.75 26.04 48
ArgE 455 26 316 113 571 69.45 24.84 44
IR THE 1,371 139 928 304 10.14 67.69 22.17 48
hasiE 393 36 287 70 9.16 73.03 17.81 37
REMGE 463 30 314 119 6.48 67.82 25.70 47
SR8 0 LAOE RS =(14% RE#E > 20% REEHR)=(65F% A LA DB-ZEEF AOEB)*100 - BT EHRELER S

2RBEE=((0Z 1458 A\ 8 6558 EA_E A8+ 1526458 A 18)*100 -
3EPAOGE=(EFARAOB+AEAEACE)2 -



EETRERE A OBIZ =BEFER T otbo RHCREETR

hEERBIVMMER AT B A%
AN OBz =g FleE o thy REBRLE
2 BAOE FHRE Bortb% HREIEXRY%
0Z 145% 152 647% 655 LA 02 145% 152645% 655 A E
& s 4,382 308 3,039 1,035 7.03 69.35 23.62 44
e 781 57 547 177 7.30 70.04 22.66 43
AIPE 349 13 235 101 372 67.34 28.94 49
hyiE 202 12 142 48 5.94 70.30 23.76 42
FIRE 337 18 229 90 5.34 67.95 26.71 47
agE 469 28 328 113 597 69.94 24.09 43
i TE B 1,360 114 934 312 8.38 68.68 22.94 46
iR 395 35 289 71 8.86 73.16 17.97 37
FEAE 489 31 335 123 6.34 68.51 25.15 46
R LAOEERD=(14% RE#B1tE » 20% HBEE)=(655% A L A OB-ZEE b AOEB*100 - BERTREBEBERFR &1

2RBEE=((0Z 1458 A\ 8 6558 EA_E A8+ 1526458 A 18)*100 -
3EPAOGE=(EFARAOB+AEAEACE)2 -



